MetaMath: Bootstrap Your Own Mathematical Questions for Large Language Models
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Answer: Each pack of beef weighs 4 pounds, so 5 packs weigh 4 * 5 = 20 pounds in total. The price per
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pound of beef is $5.50, so the total cost for 20 pounds is 20 * $5.50 = $110. ... The answer is: 110.
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Question: James buys x packs of beef that are 4 pounds each. The price of beef is $5.50 per pound. He paid s
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Answer: To solve this problem, we need to determine the value of x, which represents the number of packs of Question Bootstrapping . §

beef that James bought. Each pack of beef weighs 4 pounds and ... The value of x is 5. (Rephrasing Question: What is the total amount that James paid when | B I:D < o

> he purchased 5 packs of beef, each weighing 4 pounds, at a price of $5.50 B 20
R A . =

Backward Question by FOBAR (Preprint 2023) - \perpoundIAnSHerPe o o

Meta-Question: James buys 5 " - N A | == Diversity Gain
R . . el G EER et e A e Self-Verification Question: James buys x packs of beef that are 4 SAUZ 1 ] Accuracy Gain I:I
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The price of beef is $5.50 per pound. pounds each. The price of beef is $5.50 per pound. He paid 110. What is
much did he pay?If we know the answer to the above question is 110, what is the value of unknown variable x How much did he pay? \ the value of unknown variable x? Answer: ...... ) V

Answer: James buys x packs of beef that are 4 pounds each, so he buys a total of 4x pounds of beef. The
price of beef is $5.50 per pound, so the total cost of the beef is 5.50 * 4x = 22x. ... The value of x is 5.
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(FOBAR Question: James buys x packs of beef that are 4 pounds each. )
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